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This paper consists of two paris -Part - I (25 MCQ) and Part -1I (6 essay type
questions). '

The use of non-programable electronic calculator is permitted.

Mobile phones and other electronic devices are totally prohibited. Please leave them
outside. ' ’

Part-1

Recommended time to complete the Part -1 is 1 hour.

Answer All questions

Choose the most correct answer to each question and mark a cross ‘X’ over the
answer on the MCQ answer sheet.

Any answer with more than one cross will NOT be counted.

Part - 11

Consist of 06 (six) essay type questions in three sections (A, B and C).

Answer-only four (04) questions out of six.

Answer at least 01(one) question from each section (A, B and C).

If more than 04 (four) questions are answered, Only the first 04 (four) will be marked.

Planck’s constant h =6.63x10# s

Velocity of light C =3x10 ms* ;
Avogadro constant L = 6.023 x 102 mol ! '

1 atmosphere =760 torr =105 N m®

Gas constant R =8.314 J K mol/0.08206 L atm mol"K"!

In. = 2.303 logno

Relative Atomic Mass: H -1, C -12, N -14, 0 -16, S -32, CI-35.5, F -19.
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PARTI

Answer All Questions

1.

Sodium is obtained by the electrolysis of its molten chloride. The correct balanced equation for
this electrolysis process is, cesd®w® o8 ¢b WecdsBa) Seysf BOodemae B8sY cth 0. @®®
Beyt BPedery HudBe wewr BN0E w@nln yhHwd Dxles,

(1) NaCKI) — Na(s) + Cla(g)

(2) 2NaCl(I) — 2Na(s) + Cla(g)
(3) 2NaCl(aq) — 2Na(s) + Cla(g)
(4) NaCl(l) — Na(g) + Cl(g)

(5) 2NaCl(1) — ¥Na(s) + LClx(g)

. What is the alkaline earth metal of the following which does not react with water? dcw ©w@®

s8Bwe emImdn vun wgws? Wwrle wog ecfun ROE?
(1) Be (2)Mg (3)Ca (4) Sr (5) Ba

The cation/s and anion/s formed when potash alum (KAI(SO,),.12H,0) is dissolved in water
are, e008 ac® (KAI(S0,);.12H,0) deed 8o me DD toem mdissy/e v gramows/e
DetesT,

(1) K* and, esm A3t

(2) KAI** and, eseo SO%
(3) K*, A** and, es» SO~
(4) K3, Al* and, e SO2"
(5) AB* and, e SO3™

Which category represents the allotropes of carbon? masi8 dygs Bewldme mixles] Rdx
e’

(1) Diamond and dry carbon dioxide, 8w®@s35 5w Bug w0z Dewisleldd

(2) Graphite and carbonic acid, o9 ww e e@cw

(3) Fullerene and carbon monoxide, qeds? swmidsl e@ieznfeds

(4) Diamond, graphite and fullerene, 8s®x98, 8857 e 8’

(5) None of the above, ewn B8O ez» e

The oxidation state of N atom in Ny, NH; HNO, HNO; and NO are respectively,
N,, NHz, HNO,, HNO; e300 NO 8 N ss6@reged auBmies gomew 800857 Dxiows,

(1) 0,-3, +3, +5 and, ez +2 (4)0,-3,+3, -5 and, esw +2
(2) -1, -3, +3,+5 and, e +2 (5)0,-3,+3,+5 and, e 2
(3) 0, +3, -3, +5 and, e +2



6. Which one of the following statements is not true? swm wewsy O ywones oms eznede?

(1) ALOs is an amphoteric oxide, ALO3 vz e Vel &b,

(2) KOz is an example for superoxide, KOz wp god @:eB0 wew ¢ cndosws.

(3) CaSO4.2H20 is the chemical formula of gypsum salt, CaS04.2H.0 wwmy Sedes®
COmen Cuwim grni.

(4) 502 cannot be produced by reacting Cu with conc, H2804 in the laboratory, Cu esoxfe
H2804 &8 yBfiw Bled®xT duwawesn mded & SO2 Beebo emang m.

(5) H280;3 is one of the common oxyacids of sulfur, H2SO3 e ts@od D@ owg 9m8
§®c DB oA,

7. The IUPAC name of the complex cation [Fe(OH)(H,0)5]?* is, [Fe(OH)(H,0)5]%* eseRben
w0 smewsd JUPAC @ driend,

(1) pentaaquairon(11I)
(2) ferrous hydroxide
(3) pentaaquahydroxoiron(IIl) ion
(4) pentaaquahydroxyliron(III) ion
(5) hydroxopentaaquairon(IIl) ion

8, The coordination number of iron in [Fe(CN)¢]*~ is, [Fe(CN)o]*~ 8 @18 wm® O toom gomes
Do,

(nH-4 (2)6 (3)24 (4)-1 (5)~6

9. The partial pressure of the gaseous component divided by the total vapor pressure of the
mixture will be equal to which of the following option?
D3@w ewdmed gbd Bonw, Bgeied wdybe Hids BOmews! 0al® sws nodmn
BFewd athn obg?

(1) mass of components
@00z el

(2) mole fraction of the component
e300l OYE emades

(3) mass% of the component
e:0Omed dmsiRnt

(4) molecular mass of the component
0 SOmEd GeaD EmBTRG

(5) molecular mass % of the component
we00med genm dmsiw

10. At a total pressure of 10 atm, 56 g of nitrogen and 96 g of oxygen are mixed isothermally.
Here the ratio of oxygen and nitrogen partial pressure is,
10 atm = @yem Bomwme HBGus? 56 g = o Dul@euzt 96 g = csoofdes oct 8y ed,
0®F BB wo HBITLHT B 450 BRme eneIne,

(1)3:2 ) 2:3 (3) 3:1 @) 2:1 (5) 3:5



I1. A flask contains 2.00 moles of nitrogen and 2.00 moles of helium. How many grams of argon
must be pumped into the flask to make the partial pressure of argon twice that of helium?
(Atomic weight of argon is 40.0 g mol)

AE®@m B3gusd 2.00 mol =f e 8Ew® 2.00 mol =f 48-q ed. guos! § 481 Bimae
BRwO o®xi vy anna HOO sl ABO sews grosy Y@ Busd AP ovds me wng?

(1)320 ¢ (2) 120 g 3)160 g 480g (5)240 g

12. 4.40 L of a gas is collected at 50.0 °C. What will be its volume upon cooling to 25.0 °C at
the same pressure?
DO 4.40 L =58 50.0 °C & émvn 60, &® BamwmE 25.0 °C ¢ 88c 50 o8 v8@00
eme®ens?

(1)2.20L (2)4.06L  (3)440L  (4)620L (5)2.06 L

13. Boyle's Law deals with the relationship between two of the variables (of four) that describe
gas behavior. Which two variables are held constant in Boyle's Law problems?
eaBed Redw Diy v B88 Budnd mdm BOEs e¢mn (Wnddsd) §od 80axie vl

®O@n W08, enBEed Bude widm HBe® & Bund vdBm 5Ock e¢m dries’

(1) pressure/moles (2) temperature/volume (3) pressure/volume
(4) temperature/moles (5) volume/moles

14. A balloon contains a certain mass of neon gas. The temperature is kept constant, and the
same mass of argon gas is added to the balloon. What happens?
Memem 68 Bewds? Sy dwsiden gi-g 0. ¥msdn Baend ndh §f §50 gomsy
Dag®, Bewds? g fmm3Re0 88 dmsien eces M gmwd Omn mEHO Beorion?
0@ &?

(1) The balloon doubles in volume.
g 588D ecpem wIa@.

(2) The volume of the balloon expands by more than two times.
Aemed 88@D eenamnmd Dk D18 @d.

(3) The volume of the balloon expands by less than two times.
Agpmed 08D ecaememds D ¢f) §@imeRs’ yedens ed.

(4) The balloon stays the same size but the pressure increases.
AEme OO yhmed sDin HPS BOme D18 ob.

(5) None of the above.
eun HEDE erned.

15. Gay-Lussac law gives the relationship between
Gay-Lussac Be®¢ 085350506 et egsfer! vun RO end ¢?

(1) temperature and pressure at constant volume
Awm 886wed cEeabo ww BOmw

(2) Pressure and volume at constant temperature
Bun cdomsdded Bmae tw 680



(3) temperature and volume at constant pressure
BHun 8Omwme cdwmsDe oy 8380

(4) temperature , pressure and volume
cambe, 8Oz taw a32d

(5) temperature and molar fraction at constant pressure
Ban Bmen cdadds vy 08¢ mos

16. What does the area under the Maxweli-Boltzmann distribution curve represent?
OuddeD -0 0Pt DumdBe wdod @B ygodns Bewdtime movlest w@nfe?

(1) Total number of molecules (4) Total acceleration of the molecules
8O gy oo g OC @udes 5fOCm®

(2) Total speed of the molecules (5) Answer (1) and (3) only
geh O 8dyben obnas 8EnS (1) ew (3) v&&H

(3) Total number of molecules per unit acceleration
dmw SFO0mumO §O g vean

17, If the mass of gas A is 9 times the mass of gas B at the same temperature 7, what is the ratio
of the mean velocity of A to the mean velocity of B at constant pressure?
A Drg@ged tfastde T 9m® c¥ensidwme B £iged dnsides o®sf 9 gamen 0, Ben
BomemE A 8 @0ums yedaow B § @ums yebonwed anwne p®wc?

(1) 2:1 Q) 1:2 (3) 3:1 4) 1.3 (5) 3:4

18. For an ideal gas molecule, the root mean squate speed is V., If the pressure of this gas
molecule is tripled, temperature remaining constant, the root mean square speed will
become,
08pbem Dy gerdul wem, E aues O vbow V 0, 688 Dig gmdE BRme nx’
Qemelsy O8 o »8, Awn cdeuDn? §c ODuvms DS edrws,

(1) 6V )3V 3)V @) 2V (5) 1.5V

19. A sample of CO: gas is collected over water at 19 °C. The pressure of the resultant mixture
is 120.0 kPa. What is the pressure that is exerted by the dry CO; alone at 19 °C? (The vapor
pressure of water at 19 °C is 2.2 kPa).

CO; Dogged Bwigwn dcw @ 19 °C 2 omy mdn c1ed. Bddmaed Bamas 120.0 kPa od
58 19 °C § B € CO:2 88 v@an! 4 m0m Bams p@=lc? (19 °C 8 ¢ Doddes Boma
2.2 kPa eb).

(1)1180kPa  (2)117.8kPa  (3)1222kPa  (4)54.55kPa  (5)264.0 kPa

20. A reaction between an acid and alcohol produces an ester and
a8 ew frfemenmd g6 yABwdE 0edGen wdo Rdvenes mosies nOWe

(1) carbon dioxide  (2) water (3) glycerol {(4) ethanol (5) ether



21. The compound CH3CONH; is classified as
CH3:CONH; tsoewdne DEGmdamne mE npten

(1) an acid (2) an amide (3) an ester (4) a hydrocarbon (5) a ketone

22.  Give the major product of the following elimination reaction
son e B8e® uBBwied yihm Adueme ecnim

Blf 02H50-
CH3CH,CH,CHCH3

(1) CHsCH=CHCH,CH;  (2) CH;CH.CH=CHCHj3 (3) CH:CH2CH2CH=CH;
(4) CHsCH=CHCH=CH3; (5) None of the above

23.  Which one is the strongest base?
B8 gAc 3w Dslem?

(1) Triethylamine (2) Methylamine (3) Ammonia  (4) Aniline (5) Ethylamine

24.  What is the bond angle of a ketone?
Beddmam s emdes BOwe?
(H111.7° (2) 120° (3) 106.5° (4) 109.5° (5) 180°

25. Which one is the most stable carbocation?
DO B mYetmOwimw p@ule?

H
H NO, NO,
+ H + +
NO
a b v
(De (2)a (3b

(4) b and ¢ equally stable, b st ¢ @O LSOS
(5) a and b equally stable, a &w b ©3@m0 b0



Part 11
Section A : Answer at least one (01) of the following questions

01. (100 marks total)
(a) i. State the Avogadro’s Law.
#@lmefod Bfw wewst mosim.

ii. What are the gas laws that can be used to derive ideal gas equation.
uBguden Oy wdmdess Dyerty AEOD wdm me v iy BB 6DrDoc?

iii. A 15.5 g sample of gas occupies 25.2 L at STP. Using the ideal gas equation, calculate
the molecular weight of this gas.
Doy 15.5 g en®ucwmt STP 8252 L cas 0B, 885865 Dig woBmdens wbnmn medsy,
e®® Drwyed geam DS OWME HOETH.

(15 marks)

(b) i. Derive the Dalton’s law of partial pressure from the ideal gas law for a gas mixture
containing Xe and He,
Xe e He gérg Diy Sgemes wewn o8yben Doy odmduie widmm modsd
e&IJ0led gl Bomns BERe Budw can nzin.

ii. 3.211 g of N2 produces a pressure of 2.021 atm in a 6.00 L container at —220.15 °C.
What will the temperature (in °C) have to be if an additional 2,312 g of N are added
to the container and the pressure increases to 4.065 atm.
3.211g N2, -220.15 °C & 6.00 L He0g @2 2.021 atm B0mve28 B 908, 608 R @0
g®mc 2.312 g No 9w w0, BRmas 4.065 atm ¢$0: 08 §Dowis! 50 cdensiDn
(°C 8) & Bw gne?

iil. In wet sulfuric acid synthesis process hydrogen sulfide (H»S) gas is incinerated to SO
gas as follows. Calculate the liters of HoS at 900 °C and 6 atm are required to react
with 1.00 mol of O3 in this reaction?

ol ©d8ydnf ¢0¢ Héurgm HdBEod? wBHunt 8FoBO (H2S) Digd vww 6B
S0; 8230 D0 ved. 0®® yBHwedE 0, 1.00 mol 8w yBHw ABEO
900 °C 2 est0 6 atm 2 gDwxn Oz HaS 808 neam v eam e monts.

2 HaS(g) + 3 Oz(g) — 2 H2O) + 2 SO

(60 marks)
(c) The mean molar mass of the atmosphere at the surface of Ganymede, Jupiter’s largest
moon, is 34.2 g/mol. If the surface temperature is -123.5 °C, and the pressure is 2.11 kPa
calculate the density of Ganymede’s atmosphere by using the following equation where

d is the density of a gas and M is the molar mass. (1 Pa=1J L )

d =PM/RT

JodvBed Bacn® Ox¥¢wm Do Ganymede 8 9380 Digewlced t®uwms Clater
dmuide 34.2 g/mol ed. 8580 cdeusfdw -123.5 °C esw Bame 2.11 kPa eBEm®, sun



a@mdems wdnn w0 Ganymede 8 Digewndc wodde namme mowln. d vy Diwydm
e O gné M ox 88¢ dwsfde &d,

d=PM/RT
(25 marks)

02. (100 marks total)
(a) . What is meant by Kinetic molecular theory?
DeEm gegm Bérine eslens? gend mdsient m®nie?

ii. What are the postulates of kinetic molecular theory?
Sem eqm Blrined comdun e@imDie?

iii. How can we express the relationship between the average kinetic energy (KE) and
the temperature for a particular gas? «® D@Dz esewn e0@izms Drem wufde (KE)
e s sde g0 a®sThe yma mg vEen emede?

(25 marks)

(b) 1. Suppose we have two gases A and B at the same temperature and pressure, where va
and vp are effusion rates of gases A and B respectively. If the corresponding molar
masses are Ma and Mg, apply the Graham’s law to take a relationship between the
rates of velocities of two different gases and their molar masses.

Sm® c¥umided oy Bhmwem A ww B Digst el ey B Eng, 88 va ww vp

" @z BEeOHES A wv B dgsted Buude yeds 0. Shed g0t 098D douid
Ma @ Mp @, 88 iy O¢ yedo gpune o dhed 99Em dasid and
e@sIVw 000 gro@ed Hwdw (Graham's law) ewaguim.

ii. A fresh air is composed of nitrogen N2(78%) and oxygen 02(21%). Find the root
mean square velocity (rms) of N2 and O; at 20°C. (Molar mass of N2 = 28.02 g/mol
and O3 = 32,0 g/mol).

88 Dovw ®BZLs Na (78%) e DxlBeis? Oz (21%) D87 ©@s38» @b, 20 °C 2
N3 e300 O 8 ¢ @0 D80 yedbow (rms) eowsim. ( N2 @98 fwmsitde = 28.02
g/mol e O2 @LE™ dmztRs = 32.0 g/mol)

iii. State the combined gas law and its mathematical expression.
SRR oy Hudw s 98 o &En®e ymmnme wsewsd moslm

iv. Predict how the volume of a given mass of gas will differ when the following
changes in the temperature and pressure are made.
c¥omrbed wn BOned sun ednudm® 8¢ § 80, € ¢if Dy dosiden 2880
ebmed O gamnde JedTmome mosTs,

a). The pressure is tripled while the absolute temperature is doubled.
Sdede cdamSdw et Dm gnd BOme prf geoBs! O 6O,

b). The absolute temperature is doubled while the pressure is reduced by half.
Hoodule cdaTddwe ecgaws D gnd Bhmae ¢dBs! 48 ¢®.

9



c)). The pressure and the absolute temperature are both doubled.
Bamae oy Hledle cdasde om eem® ecga od.

(55 marks)

(c) The diagram shows the Maxwell-Boltzmann distribution for a sample of gas at a fixed
temperature. E, is the activation energy for the decomposition of this gas.
000 cd@mTOwmE Dy ducex wgyw SFdedE@-edddoudes Omdde do
80esy eufed, E, vn 600 Diged Bowdtine e g Ble® nnfBed.

A

Mumber of molecutes

\\\N

>

Energy

i. Indicate the most probable energy Emp of the gas molecules on the given Maxwell-
Boltzmann distribution curve. Then draw a new distribution curve for the same gas

sample at a lower termperature.
can & gy Maxwell-Boltzmann e8¢ ©86@ Dpnw ©» Doy §e/OC D8E® ©dwidsn

e Be Enp c50x9m. gfen, g6 cdambeme 08 Dy w00ced mD edg wbe®
Dped g8mim,

ii. Briefly explain the effect of temperature for the rate of decomposition of this gas.
e®® Diged Bowltm oduwr wem cEokIDed AcL® emdewsd e 8 monim.

-~ OJ.'NZMi
E
&
% 0.003{- | —

0.0024 R e SOAF
% - i : _,,_,_!.ﬂxe
a |
o 0.001
n- N

0 500 1000 1500 2000 2500
Speed (m/s) ‘

iii. The above shows the dependence of the Maxwell-Boltzmann distribution on
molecule mass. Briefly explain how the speed distribution depend on the molecule

mass.

10



Pum griedslosy ga mside On OutdedE-6ad @04 Ddded W B@ .
ebow DmdRe ga dnslde O 6g 808 gmde emSews! 81 EE movim

(20 marks)

Section B : Answer at least one (01) of the following questions.

03. (100 marks total)
(a) Write structural formulae for, Opwistom gn Susim

1. two constitutionally isomeric primary alky] bromide with the formula C4HoBr
3070 Daewsy ©@Dwdm Hodm qdnBc egPORE eem
iv.a secondary alkyl bromide and
§88&m y1dmIE 07RO
v. atertiary alkyl bromide with the same formuta.
25 wyw Bn 2188w nEwiE cadPiDwt
(15 marks)

(b) Categorize the following compounds into primary, secondary and tertiary amines.
sUn Beewd® HPO8w, 888w vy :BBm HEBH ecen DEH mEsIH.

NHCH, NH,
(15 marks)
(c) Draw the canonical forms of Aniline
@ B85 & erfimE g g8sim
NH,
Aniline
(25 marks)

(d) Arrange primary, secondary and tertiary alcohols in the order of increasing rate of reaction
with alkyl halides, eid=8E el udw yBHw edvw O O gRBEOED HOdm,
&BB8m e maB@m BB wmessts

(15 marks)

11



(e) Give the products of the following reactions
vum yBfw O yBuc cab ecim
Xz, FeCI3

HNO; / H;80,

© H,50,

RC! JAICI,

R(C=0)Cl / AICl3

(30 marks)
04. (100 marks total)

(a) Arrange the following compounds in the increasing order of their reactivity towards
electrophilic aromatic substitution, sos sscowvfo gocaepBE gedd®0n geqdame
eeesd dred yRB B U1 O gpBEEIED umnsin

NH, OCH; NHCOGH,

>

(20 marks)
(b) Predict the major mono-nitro products in the following reaction.
swD §B8Hwed yim eteni-nBedd HEses gedimine mosis.
CHs
:f:j HNO4/H,S0,
(20 marks)

(c) Write resonance structures for the o-complex formed in the ortho nitration of anisole
aBoudced dond HBedury BE g G O-wATeRR B gEYNg Owes’ Beslm

OCH,4

Anisole

(30 marks)

12



(d) Give the structures of the esters formed in the following esterification reactions.
gifloniced Dend mBeJust ne tiem C¢ o-wBEaw g es®ywmis Dywans?

Buzin, .
CHyCH,CH,0H  + CHyCOCH HSO,
Heat
H,S0
HOCH,CH,0H  + CH3COOH 27
Heat
CH;30H +HOOC—©—COOH 2504
Heat

(30 marks)

Section C : Answer at least one (01) of the following questions.
05. (100 marks total)

(a) List the following ions according to the chemical property described in the brackets.
D0wsTOE DEmO W6 e den wiim ganesd gm0 swn gum cldnon misTm.
i. Li*, Na', K* and, e®» Rb" (increasing order of polarizing power, 1Bmden ACe
e BECDEST & 889)
u. F-, CI, Br-and, ew I (increasing order of degree of polarization, §(d=ceaw Be® y@ramw
enBEebEx £H5P)
(10 marks)

(b) Write the balanced chemical equations for the reactions given below. sw» ¢y &8 yABwo
eew @pEn denadm sBmcen Susim. :

i. Mg(s)+ Oxg) -
ii. Na(s) + HoO(l) -
iii. KOH(aq) + H2804(ag) —

2000°C

iv. Mg(OH)z(s) ——
(20 marks)

(c) Answer the following questions considering the production of sodium hydroxide. eedSw®
»BeiH el Hurcms sem sun HERDED BERG, wuwinm.

i. What is the raw material used to produce sodium hydroxide? et d8w® wBoipuiesds
BEorme 05w 98 mOD ¢fcdun e &?

ii. In Paranthan, Sri Lanka, sodium hydroxide is produced by the diaphragm cell method.
What materials are used as the anode and cathode in diaphragm cell? § Gemoed aoximsis
ewniBud® wlefmleid Audn cawler? pdd onfy POe 088, gdd emfved
feI0G ww METOe eEe Wb WSH Onw @i ¢?

13



iii. What s the name of the chemical process of the production of sodium hydroxide? eed&w®
0wBeipfal Bduemne min dmedm HwdEed 50 BBnlg?

iv. Write down the anode, cathode and cell reactions of the chemical process you mentioned
above. @9 v wews? wE dwwdm FwdBed grondd, mneadd) sw emde yBBe:
Bwxim,

v. What are the byproducts of the production of sodium hydroxide? oedBw® wlefunleis
Adgmed o O e@inds ¢?

vi. Give two uses of sodium hydroxide and each of the byproducts. eed@u® wBefpuiels
taw0 Ouf Ot @ OEOE ©dm eem BT egsim.

{50 marks)
(d) Draw the structures of the following compounds. swn e-0wufodE Dyves’ g8zin.

(1) Al:Cls (i) BH, (ii1) BF3 (iv) H3NBF3
(20 marks)

06 (100 marks total)

(¢) Give the TUPAC names of the following complex compounds/ions. swm tRSen
weendo/gus O JUPAC 5@ eqsim.,

i. [Ag(NHs3),1Br
ii. [NiCIBr(NH;)(CO0)]
iii. [ZnCl]*
iv. [V(NHs)e]**
(20 marks)
(f) Give the chemical formula of two stable oxides of vanadium, chromium, manganese and ion,
and indicate the oxidation no of metal atom in each compound. Dexitie®, ewidwe,
Dr0Red sn Wb DE Hd PHelD ecmm Suwdin gyo b & & ol werfoed el
octy 8é@gmdE DEBme gome ¢OsTD.

(32 marks)

(g) Determine the oxidation number and coordination number of each of the metal centers
and the geometrical shape of the following compounds/ions. swn esgwss weewl®/gumDE
ot O 0T » Oned REBHI GomWw®B, t5o0D B €3 L1 B wy R BYeme mOsTH.

i. [AgCly]™
ii. [Fe(C0)s]
iii. [Cr(NH3)e)®*
iv. [Cu(NHs)**
(24 marks)

14



(h) Explain the following. swm mdien 019188 mosim.

1. When the lid of the concentrated ammonia bottle is held near the concentrated hydrochloric
bottle, the production of white dense fumes can be observed. e0s3e aeCIBw edfncEed
Bem sl wBeihfecdds eadncs guc MmPEO wm tig (@dunt Rucde BBuvemes
DE U E,

ii. When a few drops of concentrated sulphuric acid are added on to a watch glass containing

- solid sucrose, the production of black color residue and steam can be observed. eszn paemdes
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(24 marks)
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